BANIREL

PETROCANADA

PETRO-CANADA
PROJECT TITLE: HORIZON PROJECT
VENDORS NAME: Dresser-Rand
DOCUMENT TITLE: Arrangement - Coupling LS
VENDORS DOCUMENT NO: CPL-0ONF-003-001
VENDORS REVISION NO: 0
DATE SUBMITTED 7/28/2008

PETRO-CANADA
Supplier Document Review

Permission to proceed does not constitute acceptance or approval of Design Detail, Calculations, Analysis, Test Methods or Materials developed OR selected by SUPPLIER, and
does NOT relieve SUPPLIER from FULL compliance with Contractual Obligations

- 1 Work May Proceed

I:l 2 Revise & Resubmit. Work may Proceed
subject to incorporation of changes
D 3 Revise & Resubmit. Work may not Proceed
D 4 Review not required. Work may proceed
» Marvin Ishmael e 28th August 2008

Discipline:

Equipment No.

JMH-71011, L-71080

MR No.

7|10/ MR{J|O|O[O]|1

1017 VP—B02—710——01AC—0013 0/ 0




8 SAY WHAT YOU DO 6 STOP, LOOK AND |LISTEN FOR SAFETY 3 DO WHAT YOU SAY I 1
PRODUCTION DRAWINGS LIST OF MATERIAL AND DRAWINGS FOR ONE COUPLING
OPERATING CONDITIONS MASS ELASTIC DATA JXIAL FORCE VS. DISPLACEMENT  I"oRaWING No. DESCRIPTION QTY | PART No. PART_DESCRIPTION MATERIAL MK_NO
] CC69883 |SHIM PACK 1 | 1133913 |RIGID, DRVING AIS|_4140/4340 HT| 1
NORMAL 2940 HP © 1,785 RPM COMPONENT WEIGHT DRIVING DRIVEN . CC68493 |DISC PACK T | 1133914 |RIGID, DRVEN AlS| 4140?4340 HT[ 2
DRIVER RATED ——----—-—==———mmm— 3,550 HP @ 1,785 RPM —_— E— ] .
RIGID (BORED) 110 LB 133 LB 80% CB73061 |ASSEMBLY DWG 2 | _CC78994 |ADAPTER AlS|_4140/4340 HT| 3
SPEED RANGE (MIN/MAX/TRIP) ----- 1,785/1800/1800 ADAPTER (INGL. 1/2 DISC PACK) ———m— 2 Lp 2 B 1 1 | 1133915 |SPACER AISI_4140/4340 HT| 4
NORMAL TORQUE -------=-—-—-—-- 104,018 IN—LB SPACER (INCL. 1,2 OF EAGH DISC PACK) ——-—- 4 LB 7 2 | _CX99930 |DISC_PACK ASSEMBLY 301 STAINLESS STL| 5
DRIVER RATED TORQUE --————-—---- 125,344 IN—LB . £ 60% 16 | WAB2279 |5/8—18 NF x 2.63 CAPS |ALLOY STEEL 6
SELECTION TORQUE---—--—-—————— 269,489 IN-LB TOTAL COUPLING WEIGHT (BORED) ------——-— 328 LB R - 16 | WAB2245 |5/8—18 NF LOCKNUT STEEL 7
(INCLUDES 2.15 S.F.) MOMENT OF INERTIA (WRZ) -——m——mmmmmememmeme 6,100 LB—IN? € oz 16 | WAB0625 |5/8 HARDENED WASHER _ [ALLOY STEEL 8
COUPLING RATING ’ 6 J ol 31 WAB2272 |3/8—24 NF x 1.39 CAPS |ALLOY STEEL 9
MAX CONTINUOUS TORQUE 326,000 IN-LB ISESSI-I:%N?)IN sJysFNgSEFr PENETRATION) 131 X 107 IN-LB/RAD g Ol 31| WAB2242 15/8-24 NF LOCKNUT STEEL 10
Q ’ 20% -] 2 | FX10142_|0.070 SHIM PACK STEEL K
PEAK TORQUE ————-=—==-—=—--——-— 391,000 IN-LB DISC PACK ANGULAR STIFFNESS --——————=———- 4,600 IN-LB/DEG 1 8 WAB2015 |3/8—24 NF x 2.00 SHCS |ALLOY STEEL 12
MAX MOMENTARY TORQUE —------— 518,000 IN-LB LATERAL CRITICAL SPEED ——mommmeemmemmee 110,000 RPM 7 8 | WAB2013 |5/8—18 NF x 2.00 S.5. _ |ALLOY STEEL 13
(SIMPLY SUPPORTED TUBE) 02T T T LT T
20% = 40% = 60% = 80% = 100%
o1 25 € BEARING TO SHAFT END _ ANGULAR AXIAL i #x[ 1 | 1133936 |DUMMY HUB ALLOY STEEL 14
) MISALIGNMENT: MAX CONTINUOUS ==—====------ 0.20 DEG +0.160 TR —— O — QUANTITY INCLUDES AN ADDITIONAL 10%
! * — INDICATES ’SHIPPING SCREWS' NOT SHOWN.
NOTE: TRANSIENT AXIAL MISALIGNMENT CAN BE 133% OF MAX CONTINUOUS =(N) (% OF CONT) {LB) 'SHIPPING SCREWS' — YELLOW COLLAPSING CAPSCREWS
/ DISC PACK ¢ TO € DISTANCE —----—-—----- 19.9 0.160 100 1,277 RED LOCKING SETSCREWS
/{H-—- MAX CONTINUOUS PARALLEL OFFSET --—--——m- 0.069 0.080 50 365 NOTE: ALL 'SHIPPING SCREWS' MUST BE REMOVED AT FINAL ASSEMBLY.
L g-ggg 1(? 505 (SEE INSTALLATION INSTRUCTION 16-602)
- ** _ INDICATES ITEM WHICH IS NOT PART OF THE COUPLING
9.50 STRUCTURE AND IS ONLY SUPPLIED WHEN REQUESTED BY
i : THE CUSTOMER.
g
5 3
e T " T T T/ /T g
5 s
o
LY
(43.000 COLD—INSTALLED)
24.000 FLANGE TO FLANGE (COLD) 2 — KEYWAYS 180" APART
VIEW SHOWING OPTIONAL DUMMY HUB @) .035¢03 sHIM CENTER SECTION 035¢08 sHM (D) 260>
8.038
(SEE NOTE 5)
AJA ::E +%=0.805 MAX
il it 7.517 =
6.913+5%
[} [
© ©
S S
N N no
% 8 ) i 8 o 2
£ = % ‘ 9.500 24.000 NOMINAL SHAFT SEPARATION 9.500 s ° Y
§ 2 ——2.80— l—3.11— i N
]
- ! ————— &}
1 N @
< g Ky S
g S
153 L8 l ‘ 176 LB
o 07 = oy
PULLER HOLE \_ GEARBOX
(SEE NOTE 7) PULLER HOLE
NOTES: (D (SEE NOTE &) D-R CT: 33125
1. KOP—FLEX DISC COUPLINGS ARE PROVIDED AS FACTORY ASSEMBLED UNITS. SEE NOTE 1 DR CPLG P/N: CPL—ONF—003
WARNING: DO NOT TIGHTEN OR LOOSEN DISC PACK BOLTS AND NUTS. D—R DWG ID#: CPL—ONF—-003—-001
TIGHTEN FASTENERS TIGHTEN FASTENERS D—R DUMMY HUB P/N: HUB—020-001
2. COUPLING IS DESIGNED IN ACCORDANCE WITH API 671, WITH _ _
STANDARD EXCEPTIONS PER KOP—FLEX FORM #16-1000. 0 zxiéﬁgggg PETROCANADA MONTREAL HORIZON PROJECT I$42§E&FJIRI§J)(LUBED) . DRESSER—RAND
3. COUPLING TO BE DYNAMICALLY BALANCED PER APl 671 w/TOLERANCES PER CUSTOMER:

DRESSER—RAND SPEC. 003—046—001 "CATEGORY 2"
(COMPONENT BALANCE AND ASSEMBLY CHECK w/REPEATABILITY)

EQUIPMENT NAME: WET GAS COMPRESSOR

P.0. NUMBER: 1017-710—-P0—-J—0001AC

INQUIRY NO.— BAL NO. 5430226

CUSTOMER'S ORDER NO.— _158455

CONTRACTOR: BANTREL
DRESSER—RAND BALANCE REQUIREMENTS —FLEX'S CP— 5583903 5583866
4.-$—|NDICATES EFFECTIVE CENTER OF GRAVITY OF HALF COUPLING. PER D—R SPEC 003—046—001 Rev 31 W/EXCEPTIONS PER K—F FORM 16—681 BANTREL REF: 1017 KOP-FLEX'S P
T T T DRESSER—RAND CONTRACT: 33125 QUANTITY— (1) COUPLING (1) DUMMY HUB

5. CENTER SECTION IS DESIGNED TO STRETCH FLEXIBLE ELEMENTS AT INSTALLATION. | ALANCE CRITERIA CATEGORY 2

NOMINAL CENTER SECTION FREE LENGTH (UNSTRETCHED) = 23.909 (DRIVING END)| (DRIVEN END) | (EACH END)

SHIM AS REQUIRED TO OBTAIN PRESTRETCH VALUE OF 0.021 COMPONENT BALANCE 4 W/N 6.93 g—in | 8.38 g—in [2.68 g—in KOP-FLEX

AXIAL GROWTH (0.021) — PRESTRETCH (0.021) = RUNNING NEUTRAL DRIVING END | DRIVEN END s
6. FIELD BALANCE HOLES SUPPLIED IN ADAPTER FLANGES (QTY 1 ASSY CHECK BALANCE | 15 W/N | 36.15 g-in ] 41.58 g—in i 354 MP
" 3/8-24 NF TAPPED HOLES PER FLANGE ON A 11.375 BOLT CIRCLE) BALANCE REPEATABILTY[ 20 W/N | 48.20 g-in | 55.44 g-in > 7O SCALE 4 To #

. — Jogrvved
7. DRVING PULLER HOLES: QTY 2, 3/4—10 NC LOCATED ON A $7.800 BOLT CIRCLE KEAY TOLERAICE. PER Ao 6002 UNLESS OERWSE SPE0FIED. | e e 1133912 |1 il
8. DRIVEN PULLER HOLES: QTY 2, 3/4—10 NC LOCATED ON A #8.375 BOLT CIRCLE ¥ CAP I zone | rev REVISION DESCRIFTION BY | DATE | CHK | AR [ T e tmon Pt KobAEx . 0 & AUBECT To R UPOR EMADS ACOLPINCE CF THE, ARG CORSTIUTES FIL AGREMENT WTH W PORERONS COMTIONS. DL 0B, |
B | 7 | 8 5 | 4 3 2 | 1




